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2w =24 sals e b 4t 35,800 km oL &, ¥
R, sl ag, Mg O, yedldl 2naw Fyagdly
AHAAHL AQUUSR S8HL T'= 24 sells H1ddl GUALAL
MR GUASL ¢ O, A W ¥ O 5, Yl vedl o
2ladsiagl eHe sl @leuel, yedl uzdl S5 uRl
2L [Bigiell odl »i Guas RER evuy 6. yedlal
vedl ol Glausu Aedied ddl Hsdl e voel
alsctauoll B2 %32 Uy 9. g AddRs GulalirL
Al ARl AN U AL U 9,

2 olld 9 5 2048 MlBd 209 sl 4 2ugt-l
[gaedly ol 2uadiRzul valid adl .
AL GllssReML AuRUdL A3ULARLL FH-Al 219 2 MHz
ol 10 MHzel [A2141 €l 69, dail 21 sila gkl
{13l [Qecizul 9. del dil 2uaAdIREUR a3 yalid
Y 69, I, vireslHizdl ollssize aadl AUL-dd0L &
2ddl [Bigalat wid (Receive) 531 asid 89, %l 20l4
2oL yeell-il asdin dlld [Frsn oy €. 2lafann ollssike
22l gL 6l AZUIML AURLAL dR2lAL 2Ug il
ol G2l Slu & 244 e[R3vil (Line of Sight) Ry
olg €2 U s3 wsldl AAdl. s, ellssiREal el
GUR RER evildl &RA GUAS lal A3dl (Signals)
Ut 530 A% 09 vted uieoL Yool uR Hi2l [AcRML sllssize
53 A% 9. ARd 2ASIAML HIsAdl GUALIHL INSAT
UM, AL HRAR GUASIHL AHE B, ¥ AL ERAAR
HIZ AIUS UHIRML QUL O,

2i5ld 8.11 Yalu Guaus. Guaus s A5 %4
yedlell auie] ueedl 215 ygl g9din €.
Guats~il d uedleil AHBL gAHAle, Yedl]
Yldldl 28 U2 dl§ GH9 53¢ 9. il
avdl ouy-l ugl ¢d éeunid o €.

GUASIL =t s UsReL Yelld (Polar) Guasl
s¢ 8. (dusla 8.11). 2w el Gl (h = 500 el
800 km)-l GuAdl 8, uiq dxil yedl-l 2uawn
Griz-elEl Rl Yol sd w52 &, yedl -l
el AU Yyd-ulay Budi aue 52 9, i
GuasHl 2iAdsior @oedl 100 BiFe diael a4 A
uRl Gl Biga (Radq) Rauxl 8ol quid yar
539, o5 yedldl awidl el d-dl Glaus qoetdl
500-800 km elaiell, d-l 4z R %3l 593U, is
salHl (eeml) yedldl Al uglatl o A as 9.
ollggel uglull d ugldl saMl (HRMl) svud 6,
ool wvil [Bad sFMud 215 ull oflw ugl 2w
s3AA U1 yedld S wsid 9. v Buagl gelly e
Ayagdld  [RdRA Awsdl Hdripel ARl [@Ade
A2 S A5 9. 2l GuALiel uid s3ell Hlddl g2
ddert (Remote Sensing), salHlAalol d¥e Yeel-l

YLl AU Yol UL ©,
8.12 a%-(adldl (WEIGHTLESSNESS)

yeedl ueldd eal ol ad st 9 d, d ueldsi ao-
8. ol 2Rl 515 Awdl U Glow Wl Yla R
B R Uldidl dxal uoid dd¥ Sl
S8 5, AWl R [RUR uval W2, sl
g ged, ¥ oo [Ag el adud ©. wuR
el 518 ueld aw+, MBd Bl eld., 9q
destadl [Raisiel ad widlal ¢lal AR el 2L o
Ruaid @y ud . % dyann-dl [@yedl d-l uR
o ddld 4 id dl ueld 1A udl eau. Ryl viq
ol ueld U @oud 9, ueld v oRcdly vamd
dli (3oL adl A v © ud seant [Rio
ueld u GedlRadmi ol @oul 9,

gl [RBoAl Guadl 98 od A ¥R Wl -l
2 seul. [RAIAL 6l 94 duy ueld uBL s Ui
wdol gofl Al 53 8, Rl viadel Al A ueid 3
% g wedl Rl [Ha ald 82 & d-dl R S8
Aedlausi ol @dusdl ell. RaL eld=udi itud
Adls Yt 9 5180 5 RIL A viaddl o el
A ueld ds Hindl €ld, dl d HidlA didid aoe
apld % AR SR8 3 drl w GElumi siS oa
el 2 oD SIS ueld Hsd udd sl €l B
AR d a%-Adld €l © i L Herlld AHIA:
ag-ifadl-didl gedl sé 9,

Yol el 2UAWIA 5L GUASHL 825835 G, Yeell-il
Sr% A% UL Gl 8, el M ol 2 Yl d)RcAuddl
%ed o €l 9. UM, GuASH, d-ll viedl es
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Ysd udetedl daaml 8. 2 ollotd, 515 GRS well QR AAssl 528 wA M duA e s Gl
2481 Yeedl UR Usdl SIS drl el o €9, 5 qufalde Bl €ldl Adl, odl [Bauvil uq- o

1M, HIAdARd GUASHL d-il el dlsl 515 9. GUACHL ddl AAsdlAl Rl 21 ¢slsd
ARALSNAL Aot 52l el 2B IR dRelsR,  sald 8.

ARIA

Lo el adBis oReusiasdl Fuy osud 8 5, 7 »id2 el m, 24 my gl 518 6
el a2 ddld RSN ol Hid
m “\
F=G—2 9.
r

~ N e

ol G 3 RcsHEAL AdBLs A0S B, B 4 6.672 X 107" N m? kg2 8.

2. %l A s m uR el el sl M, M), ... M Al dpld uReuHl o sadg €,
dl 20Ul Auidusil Rigia-dl Guaior st dRcstaAL Fu urddl M, M, ... M
dlf dludl ol ARl 5 F, Fy, ... F O, dulduaicl Rigid 4ael 825 6ol dda 2d
w9 oflon el AR Rl Adl 8. R ole wReudl oa F, alea draon wrell
qaaly o,

ol st Y’ A Al swld ©.
3. Akl afd 28l Swrel RuHl ogeud © 3,

(a) ol ALl Bl 25 Subiga A du ddl gldgla saiHl ama 52 9,

(b) el A drs Bl Biodl AR AHIA AHAIUAHL AHIA A5 HIdY O, i
6lLoLd, AL UR AL ARcAAN 2 Sl 6ol € o $Slsd uRel HAL ©, 2 dell siell
QLI AR A 6.

(c) Aestl sellu viadsiondl aol, AsHl €ldga saiedl AL el deirl AHUHIBLM
Sl 9,
Al 2uu AsHl adusaidl suadsi T 2 Bl R a2

T2 = (—4"2 jR3
~ \GM,
[

Aol O, WUl M 2 Y su O, gllgRa saall w2 Gua-l yMlseml, Rl

N
-~

qolB AL e g YA Al wusu B,

~ ~

4. (a) yedldl uwidlel 2 Glaudl oReaudol

GM
ghy = —=L=
(R, +h)
_ GM 2h N
= —Ri- KI—EJ . h << RE Hle
M
gh) = g(O)(l—,ze—hj il g(0) = —*
E Ry



O\L)gdu&{t@t (GRAVITATION) 199

10.

11.

(b) yeelldl awdlell d Gladxl aRcaudol
GM, d d
[ =0 (1)

15

g(d) =
ARl 3 e ol B A ddl RARGeA [RAuA v 53 asu. ssofladl 7
2d el 6 sell WA Asnde R RaG

G mym,

r

V =

wel HA B, Ul — oo W2 PR g cllfd 9. seldl doiddl go RaGled i sell-l
€35 % (Pair) Hewl Gl Aawon wedl 9, ¥l €35 %ie Gual AHls8L Fal e
A3 RY KA O, L olleld Auldusidl Rgldd wqAaR ©.

A S8 AL 53¢ dot, M el IR Uelddl AR v eudl UAIR Al m eAHL S8
oidd dlu, dl sl ga dibBisGled

E=Emu— -

d UiBIsGlast 2 ufallod ARGl ucuol 8. a4 Glod ot allatril

A
A om A MA 2w g Bl adn saml eme sdl €, dlodadl ga Glod

ved 5 g
56

GMm -
E=-222 9,
2a
2], Guastl Hel 54l 2iie RAMRGAHL wunisl uielos uiedll 53 asiy 9. 515 ual
6Bt (Bound) dol 12, »i2d 3 glday sal wdl oit sail W2 sd Glod el 8. dUlaGles

2, [RRUQGIA

GMm
= 2a
GM ~
y=-220 4

a

Yool Audl el [Fvsyer sy

26 M, .
V.= TR = VR 8

2§ dd He 11.2 km s7 6.

~ .

B S8 s2 Mafd onvlla sau vtaal diolly Ad AMd 2ld vidRS o [QdRl Yuddl

S
SN

gl OOl R QA dl sAu 5 ol AMA e A8l 5 dell Sw UR (i wddg €l
d A sad st B,

A 51 s [Fald ollousiz sau-dl »iex €ld dl 2w dReld ol g 9. ol 52
4oL (Homogeneous) 8+l L0+l (g2 &1y, dl 481 U OUOUAL 3% d$ 6l0l AL .
L 60 seIAL eIl Bis-AL dseL dlolld g0 glRL @l 9,

o242 (Geostationary) 84l (Geosynchronous Communication) Gus, (ayagdla
AHdAHl yeelldl Segell @aeol 422 X 10% km i adasaiHi e 529,
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Aulasul yRHw

gt [AReuAL Yewll :

1 s veiddl oesil 2l adl ol uetdl alasdl Raureuui H2A- B Qe
iy 9 (a) selly Ao (b) sd uiBisGlod
il dorHide e ad el

2. sl dorHied wrmel Sl ol MU des €1Xl od 9. i 9dl d dRcalsiil
o adldl Fad Wi [re el d S8 ua 305U on W w8,

3. Hwrei ol [ (gl wdlse (8.1))ul 72 = KR, AdoUsR SEUHIAL oL ALL W2
AU K AHIA % O, i olodd Yol s3d @mel sl Guadl uBL @y uy o,
(uHls2 (8.38)

4. vastell GuAsHIL Aasiadl a@ddidl dMa 52 8. d sReL 2d Al 3
ASIUHL A @A REGA -l 9. UBL SR B D 5, aAsiUl 2 GuAS il yedl
dRs Yo U+l Raliul 9.

5. dsollanell 7 2dd 6 uelil datdl o RalAGled

Gmm, .
V=——12 1 »3ais
AALSA 20 d Yt L Ast 9, A2l AEL ueoll 24 9 5 del yd Ay, i uiedll w1

G mym,
r

V=-

2L wRiedll el 7 — oo G ARV — 0. 3R RARGAML Lrd HZ 2 ue 529
2 RARGHL w5 2Aqls 45l s2aL 6RIIR B, A AL 3 21 i uiedlld]
ARcan sleld ¥q el

6.  ustddl ga UiBsGlod d-l G (% ol b €l 8.) A RAGeArAL aao Fedl
8. wiedddl WA (22d 5 ol 20Ul 2id 2idd RARGed g1 © 2u Wl agut dl)
yeld-l o RAMGe e 8. Guas-l sa Glod xa O,

7. RERGEA w2 wHd Ad Had ue mgh A Gur-L Hel 641 A dRe RA[GA-L
dsladsl xfsedl (Approximation) €.

8. o sl Al dReea 3[wu dldl wdl 6l URRIA 26 uell q2Ad o0l dunl sedin
gl sl vl uR o did %33l el s olollu AR “uAdl ueld w2 ue-l
GlglRAL 8L UR dldlg GOl Bl 5 eUl Svw UR slmd Ay €ld o urel WA

9. olouslR sau-l vie Wl 52 UR dlld ot Lrd 8. 2R odl, (gl sau [Qgdeioliel]
A (Shelding 53—l 52l 2edl) UL sax d-fl vieasdl s81 otglRL uell glRl
apldl ool oidl dd el dclsia Shielding 254 -l
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LAY

8.1 A el FAL 2L :

(a) s Wl alssHl e [aader Y8l [@gdoetotiel d4 d-d Shielding 531 a4l L. 519
ueldd el aloudl vie2 YA 5 2 Ad dd sl sedsll AR el Shield
53 asal ?

(b) yeellefl 2uAUWR GHYU 5L il HastadiA-l e el w591 dRcusHRH]
unt (Detect) 530 asdl el %l yedldl uAuw sald dHel sl asia-Hasy
uRuiel (Size) “ig €l dl d dReusiadl urvt saidl 2o uvl usdl ?

(c) o ddt yedl u2 A Gl cdidl 214 g @A dwtal aRcelld ool ARvuHEl]l 53U

(=N
c

dl dHel Ul § Yo ARG, gl VRARIeOL Sl MG 8. (d¥ 2L elleldd ¢d
ugdll 2epdml iadl [@otdidl Heeedl 2sil wst ©L) UM 9dl, GRdl Y Agdl
vl ool 212, eRdl Ul Al A sl HEL B, 2w we ?

8.2 Al [Asey e 3 :

(a) GluS addl dREUdoL 4l & | we &,

(b) GlaS aadi dR@udal af ¢ [ a2 . (yedld [HaMd asddidl olel owil.)

(c) oReudol yedldl e | uslddl enedl edat 8.

(d) well Sesell 7| @A 7y 2d? 2udal o Bigaliat RUlAGlAAL dslad w2
—~GMm(1/r, = Ur,) ¥ mg(r, — r,) ¥ sdl ay [ 20 Asnsor] 8.

8.3 WA 5 S8 Ae Al wnAw ydl-l Bu sl ouell BeU uRemer 52 9, dlodxdl
selld uRaeL yeedl-l saue wRaadl arvuuellal sed i 7

8.4 2R+l s Guus, Al (o)l salld udadsia 1.769 days & i salla Bl
422 x 105m 8. galdl 3 o3l £0 Y-l e0-l ¢HRHL B2l B,

8.5 vl id Wi 5 wuuel usobdn (Galaxy) Y-l eq Fed e3sd sn €l ddl
2.5 X 10" diriidl otddl 8. tsieiousl el 50,000 ly (Light Year—usiadad) g2
WAl SIS dIRL s AHRL YT sl W seddl AU A 7 visiadiduHl U 10° Ty dl.

8.6 WA [Asey e s :

(a) %l 2vid idd RAMQGA 9u Al 1A dl saHl ARl 5l GuasHl sa Gl
a-fl alGled | RalGledAL Bwa et edl du 8.

(b) saimi Gmel sdl Guatg Yol dcusail olgiz Hisdl gar W2 il usdl
Blod, d Guael 24 % RU Wal 515 ueldd yudldl dRcsiamial iR
Wsaal w2 %33 God sl ay [ sl €l B,

8.7 vyl uxel Fsidl ueld W2 [MvsugL Bu (a) o d uslddl el U HRA O 7
(b) il sl 2d d et U 2R 9 7 (¢) Wi saudl Ra ur 2ulRd
8 7 (d) ueldd s el G uR 2wuRd § ?

8.8 5 Yudd Y-l iau A ElAgRia sanl auel 52 8. U Yudd W2 (a) iy B
(b) swlla »su (c) swla Qo (d) Gt (e) RAMGEA (f) duHA 58l U sd
Glesiotar 8 7 4udd @R YAl vl A5 20d AR 5SS en ald A dl d g2l

8.9 wasuMi-l vasigdla adl s e sul dael weud ? (a) warHl Aot (b) ASU UR
A (c) Wy emd (d) Al (Orientational) dsdls.

8.10 QA 6L YAML 200l Grmidl Al B udbe A : (a) Falid en d-ddl 4Ridd
s HAUNUSIR $92A 35 R 2R dladidl Ra ealad dR (9l 2usla 8.12.)

(i) a (i) b (i) ¢ (iv) d.

2ugld 8.12



202 alllaslEsiiz

8.11 Guart uaui 516 212 (95 Big P 1010 93 dlsiiil Baw eatad d1= (i) d (i) e (iii) £ (iv) g.

8.12 yedl el s e YA drs Sl 2id 9.yl Seeell el idd ke
ARG YU ot B 7 YA e = 2 x 107 kg, ydld e = 6 X 10** kg ol A€l
ARl U el (salla Bl = 1.5 x 101 m)

8.13 dil ‘Y amt’ 3dl Ad s, Hed 3 ddl earll el 3dl Ad Haql ? -l s2a
yeel-l saul a2 B 1.5 x 10% km €9,

8.14 Al UL il AHUou0l, Yedl UL ANl AHUDUOU Sl 29.5 oLl B, ol yedl el
1.50 x 10% km 2ld3 €, dl 3l af 32d g2 ¢d ?

8.15 s veide yedl-ll Awl U ax 63 N 9. yedl-ll By sdl 218l Gusx d ueld
U yedld oo seq sal !

8.16 Yol Fubid e0 andl H2uadl ool wzld, ¥ ueldsd AUl U2 ax- 250 N S, dl
dr yelldl vs dRe L idR dxdt seq Al !

8.17 yeeflll Awdl uell 5 km s+l 260 GledlRani 215 ke il 2 8. Yol U vl
2lddl 2oUB Ake s2d g2 Yl w7 yedld en = 6 x 10%* kg, yedl-l uua Bos
=64x10°m, G =6.67 x 100" N m? kg™

8.18 yecl-fl Auidl uell ulind ueldsl FvsHel 554 11.2 km s 8. 215 ysldd il $di
2Rl 35U ollR FsauMi »ud 8. yedllall wcid gell id? %di 3 uslEdHl By sedl
gl 7 A A oflo ASIHL Rt 29218l

8.19 yeefll 2widlel 400 km GlSH 215 GuUAE 581l AHA 52 O, GuaAsA Y-l AR csuelrl
il ol Hisadl w2 Sedl Glod wAdl usdl ? Guaesl ea = 200 kg, Yl en =
6.0 X 10%* kg, yedl-il Bl = 6.4 X 10°m, G = 6.67 x 107" N m? kg™

8.20 £35 s AW (YA Fed = 2 x 10 kg) g0 4uddl 6 diRl Hselln dRs A
(Head on) dld 2 %S Wl 6. 243 dall 107 km 2Aid? €l 8 R dH-l »gu
2§01y B, ddll sedl vzl sollnd 2add ? eds didl Bl 10* km 9. qsd
Ul (Al [ diedl [Bgd adl el 213 9kl (G sid 3 dl)

8.21 s uxfalaor sies uR €351 100 kg e0 24 0.10 m Bzl €l dal 6f IR Uil
visoiloel 1.0 m 2idl Ysal 9. UL Svaidl sl il Haulbigal o i
dRcRA[HIA S2al ¢l 7 d Bigal yidl 515 ueld Aqail © 7 o di i dl gadt R
85 RAR 7

SETEIR ESTRIE]

8.22 d¥ ulsAyRdsHl dlval 9l 5 oRU2 Guae yedldl suaw yedldl auwidldl qoieal
36,000 km Gl “Ruadl saml dHaL 52 6. 21 Gualel @ dRaRalaHIA sed ¢al 7
(tedd 2t e RAGEA 94 dl.) yeddld en = 6.0 X 10** kg, Blosul = 6400 km.

8.23 YAl 80 5l 2.5 91g] 801 HRAAAL A A 51U 12 kmef, WRHIEL AL 215 dIRL 1.2 uReHa
lal A5 weell Beusll dH 53 8. (2L UL 2Aid il 1552 eiridl compact dRIA 42ix
dAlRL 58 B9, YRR d3 Hiavidl S2als Hasiell uelEl L wsiRMl 2U0d 8.) d-l [Qyagd w
Yiell ueldl desia dlf dsll dwidla 2R 89 ? (i e =2 x 10% kg).

8.24 {210 U A5 wlaAsAAA RUR YAA D, Bl 25U Yo ol aidl 2al w2 dedl
Blod wAdl widl ? Hasiadi eo = 1000 kg, i sa =2 x 10° kg, Hola en =
6.4 x 107 kg, Wa-l Bl = 3395 km, Haal sau-il Bl = 2.28 x 108 km,
G=6.67x 10" Nm?kg>

8.25 Hoefl qwidl uel s ke GledlRwmi 2 km s+l seusll il 2ud 9. A HaruHl
ARl a8 A ddl w2l G-l 20 % Gl an wHdl €, dl ol
AUl U UL ddl uddl Ase Fed g2 il ? M en = 6.4 x 107 kg, ol
Bl = 3395 km, G = 6.67 X 107" N m? kg 2.
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o
p
Y
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€
S
n
0
L

K
A
u
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pqud




204 allasl@siA

ylklare A 3
$201S ANRUAL AANLSL




uR(32 (APPENDICES)

205

ul3fare A 4
3UldRL AU,

AAL VLR UL 2aud A oo dHlsw a3U avid © ¢

deus (Length)

1 km = 0.6215 mi

Imi = 1.609 km

Im = 1.0936 yd = 3.281 ft = 39.37 in
1 in =2.54 cm

1 ft = 12 in = 30.48 cm

1 yd = 3ft =91.44 cm

1 lightyear = 1 ly = 9.461 x 10"°m
1 A=0.Inm
SN (Area)
1 m* = 10* cm?

1km? = 0.3861 mi® = 247.1 acres

1 in’= 6.4516 cm?

1ft’= 9.29 x 10°m?

1 m’= 10.76 ft*

1 acre = 43,560 ft*

1 mi*= 460 acres = 2.590 km?>

58 (Volume)

1m’= 10°cm’

1 L=1000 cm®= 10" m’

1 gal = 3.786 L

1 gal = 4 qt = 8 pt = 128 oz = 231 in’

1 in® = 16.39 cm®

1ft = 1728 in® = 28.32 L = 2.832 x 10* em®
N3U (Speed)

1kmh'=02778 ms ' =0.6215 mih™'
Imi h™' = 0.4470 m s™' = 1.609 km h™'
Imi h™' = 1.467 ft s

3\‘20{3'11{8\1% (Magnetic Field)
1G=10"*T

1T=1Wbm?=10"G

"t,_\'&fl w1 5100l U (Angle and Angular Speed)

7 rad = 180°

| rad = 57.30°

1"=1.745x 107 rad

1 rev min~' = 0.1047 rad s~

1 rad s”' = 9.549 rev min”’

gn (Mass)

1 kg = 1000 g

1 tonne = 1000 kg = 1 Mg

1u=1.6606x 10 kg

1 kg = 6.022 x 10*°u

1 slug = 14.59 kg

1 kg = 6.852 x 107* slug

1 u=931.50 MeV/c?

grdl (Density)

lg cm > = 1000 kg m>=1 kg L

o (Force)

1 N = 0.2248 Ibf = 10° dyn

1 Ibf = 4.4482 N

1 kgf = 2.2046 Ibf

UHY (Time)

1 h = 60 min = 3.6 ks

1 d=24h= 1440 min = 86.4 ks

ly = 365.24 d = 31.56 Ms

eoll (Pressure)

1 Pa=1Nm">

1 bar = 100 kPa

1 atm = 101.325 kPa = 1.01325 bar

latm = 14.7 Ibf/in®> = 760 mm Hg
= 299 in Hg = 33.8 ft H,O

1 Ibf in> = 6.895 kPa

I torr = Imm Hg = 133.32 Pa
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Bl (Energy)

1 kW h=3.6 MJ

1 cal = 4.186 ]

1ft Ibf = 1356 J = 1.286 x 10™° Btu

1 L atm = 101.325J

1 L atm = 24217 cal

1 Btu = 778 ft Ib = 252 cal = 1054.35 J
1 eV =1602x10"]

1 uc?=931.50 MeV

lerg=107"J

allaslasiin

wdaR (Power)
1 horsepower (hp) = 550 ft Ibf/s
= 7457 W

1 Btu min~' = 17.58 W
1 W=1341-10" hp

= 0.7376 ft Ibf/s
Gwil8sdl (Thermal Conductivity)
1 Wm™' K™ =6.938 Btu in/hft* °F
1 Btu in/hf® °F = 0.1441 W/m K

G;l\ﬁ-l[?l (Geometry)

adasil Bl r: uRa = 27,
&Aool = T
dlousll Brosul 7 &stsul = 4107,

3a—i 3
—37'[7‘

r Bl 2t A, GlALSHL AdUUSR oUsR
HI2 AAs0 = 27T 2 42T 7 i

se=xr’h;
a WAl ek dudil Busieid

~ 1
AASN=— ah
2
[Gand axls (Quadratic Formula)

% ax’ +bx +c =0,

Qg = ~bEVb’-dac

2a

0 vieu W2 Bisielfdla [@Q8al (Trigonometric

Functions of Angle 0)
-8

2gld A 5.1

uRlare A 5
auf@las »o

. v
sing=2 (‘.Oﬂg=l
r r
tan@:i cme:i
x y
r r
sec = — cac @ =—
x Y

WAALIRYU YHY (Pythagorean Theorem)
L s1250L RS w2, o + b = ¢

B
c
a
-
A 5 C
2504 A 5.2

[Gisiai (Triangles)
WAl 4, B, C 9.
aul (s syl g, b, ¢ 8.

wRutl 4 + B +C = 180"

sin A B sin B ~ sinC

a b I
A =a*+b*>—2ab cos C
ol D =4 +C
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2gld A 5.3

Bl el 244 udlst (Mathematical Signs

and Symbols)

= 6RAGR
= QIAMIL GRAGR

SIEETIERR RS

CRICERCEIR

253U 89, a5 vaIlRid O,

52l HIg 9. (>> 5l 4, HIE 9.)

sl Al 9. (<< St 8] A ©9.)

sl HIg HUalL 6RIGIR 8, (5l Al ~all.)
sl Al Al GRAGR B, (sl Hig 4l.)
Al 5 191

o AHUHIBIHL €9,

Y Al AdAll

X AL <x> 2l x,, x 7L AL HE

l

*

H IAN IV A VO

]

Cusiaadla 2133[ (Trigonometric Identities)

sin (90°— @) = cos 6

cos (90°— @) =sin 0

sin @/ cos @=tan O

sin® @+ cos® O=1

sec’ O—tan® 0= 1

csc? O—cot’ O =1

sin2 =2 sin Hcos O

cos2 @= cos® @—sin® @ = 2cos” O -1
=1-25sin’0

sin(xx ) =sin rcos f=£ cos asin ff

cos (% ff)=cos cxcos B F sin asin B

tan (0{‘|‘ ﬂ): _ tanag+tanjg
- ~ Ixtanea tanf

. . 1 1
sin o % sin ,3:2sin5(rxi,8]ms§((x¢,8)

cos &+ cos B

=2 cos%(a +5) COS%(IZ -p)

cos o — cos B

.1 .1
--2 sma(o: +B) sm;(a -B)

(Gudl una (Binomial Theorem)

nx n[n—l]x2
—_———

1+x)” =1+
T o

2
[lix]_n:11%+%+ ..... (x2 <1)

A2 &ldis] [ddre (Exponential Expansion)

2 3
x

x x
et =1+ X+ —F—+.....
21 a

C—l@l'&lﬂ?{ BENEL] (Logarithmic Expansion)

1 , 1
In (14x) = x- 5x2+ —x3 - (|x|<1)

o

Gistamdla [ada (Trigonometric Expansion)

(0 in radians)

: 0% o°

s 9=9—H+H .....
0 0*

cos 9=1—E+E— .....
6% 26°

tan 0=9+?+ﬁ— .....

ulza-u dRUSIR (Products of Vectors)

~ “ A

x, y 2z BoHidl 2sd kA i,J 2 k ddld
avilut dl

A

,i\,i\:jj =kl§=1,'i\j:jlz :l;.':()

>

o

ixi=ixi=kxk=0,ixJi=k, ixk=i.kxi=1J

X,y 2 z 8l WR a,, g, 214 a, 4251 HR1ddl 1S Ll

AR a UL UL AVl as

a=ai +ayJ+aZk
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SIS ueL ARAL a, b 2 ¢ AL Wi a, b 24 ¢ i dl

i j k
ax(b+c)=(axb)+(axc) axb--bxa=|a, a, a,
(sa)xb =ax(sb) =s@axb) (sl2aS.) b, b, b,

. .- .. .. =(agbszua,)i+(aszszax)j+(axbyfbxay]li
a 2 b dRAL AL sl8L & ¢l dl
a-(bXe)=b-(cxXa)=c-(axXb)

aX(bbXxc)=(a-¢)b—(a-b)c

a-b=b-a=a,bh,+a b, +a,b, =abcosd

|axb| = absird

uR[re A 6
SI A[Ad 2454
A 6.1 32¢L5 ST ABA ViU ST YO ASHIHL salAL O,

@lasAl (Physical quantity) SI 2154 (SI Unit)
udls (Symbol)
square metre
cubic metre
metre per second
radian per second
metre per second square
radian per second square
per metre
kilogram per cubic metre
ampere per square metre

ampere per metre

mole per cubic metre
cubic metre per kilogram
candela per square metre
square metre per second
kilogram metre per second
kilogram square metre

metre

per kelvin

cubic metre per second




YRA%e (APPENDICES) 209

A 6.2 ST A8d Asn, [alre wn Alkq

cllasul SI 154 (SI Unit)
(Physical quantity) AU oflog wSHIAUL ST YO 2sHIAU UeH]
(Name) |(Symbol) Ygui (Expression in |(Expression in terms

terms of other units) of SI base Unit
hertz

o - -

Pascal N/m? or N m™2
joule N m
watt

coulomb -
volt W/A or W a™!

farad C/V

ohm V/A
siemens A/V
weber V s or J/A
tesla Wb/m?

henry Wb/A

lumen -

v D e

becquerel - -
ay

ar J/kg

A 6.3 [Afre -uH 18 ST ASHHL saladl s2cs ST al8d As5H)
Allasal ST 154 Udls

(Physical quantity) UH (Name) (SI Unit Symbol) [ SI HU 25HIAL UgHL
(Expression in terms
of SI base Unit)

joule per tesla

coulomb metre ~ Cm  sAm
poiseiulles or pascal second m ' kgs!
or newton second per sq. m -

newton metre _ m? kg s>
newton per metre ~ Nm  kgs?
watt per square metre - kg s~
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joule per kelvin m? kg s2 k!
joule per kilogram m? s K!
kelvin
joule per kilogram m? 572
watt per steradian kg m? 57 sr’!
watt per metre kelvin kg m s> k!
joule per cubic metre kg m! s
volt per metre m kg s? A
coulomb per cubic metre m>As
coulomb per square metre m2As
farad per metre m> kg st A2
henry per metre m kg s A7

joule per mole

joule second

joule per mole kelvin

m? kg s> mol™!

kg m? s7!

kgm? s k! mol™

coulomb per kilogram kg 'sA
gray per second m? s~
par pascal m kg s?
Newton per square metre kg m' s
pascale per metre kg m?2 s
joule per kilogram m? s
pascal cubic metre kg m? s72
newton second kgm s
newton metre second kg m?> s7!
ohm metre kg m® s A2
joule per square metre kg s72

ulRre A 7
@lasAA24, Al88 drell 244 YsAS 337 edlst (A3l

AURAL HIZ AULHLI HIALEIA

o  GllfsABAL Uclsl A3 A 215 HaR €1 O 27 S2llets (20dl) 2LSuL w8, HUH 9l ALRUSIRHL s
AU d3ls 2uildl ol el UdlsiAl BRuxi ol udlsiadl 21aor uisal 12 21 udlsq sl 2id vy 9,

o alifas ulselnl Al 3 uel-il 2518l eld., RARGA w2 R GL aualdl -l YadsHi sl
AL [ AR (Glew) atsSuml dviy 69,

o AR el (82) A WA (Blew) auSusl i 8. %y adotvigel uRRBRRML ulzal wdlsl 1 2
wsld guldl as.

o ol AWML dRusR Al a2l Aldl wouL Al qri 8. is WML ofle AL g1 cwousz A4lilay dlél
wzal sl dlél (/) a3 sulam HHadl 1o 2 Hel UaH didel Al ARUSR d15 0% 0005 29l 24
e e el Wl avil asi,
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AR Al Udlst AR (Glew) ausunl avi 9. udlst ul wallaay ysid el Gelsw a3,
Ca, C, H, He, U @R,

YsALS Y 5L HI2 del A el 5L loil [Fl@bd (URMIg-sH1s) 2 GRalalMd (sais) dils 4sia

~

9.

Belsasl dils U-235 =ysaldsn 25U dld 2% 5214 6. (RLRAAMELS st U 18, £01ls 235 gIRL 2irl URHIBL-5H1S
92 gl sl ©.).

o632 U3 dl el o1y Grla®id 22l 2501l Rl (2ua-idl BRuxl) salddl 12 duriy 9. Gelewl
a3, Ca*, poi

ylklse A 8

SI 2154, 2els ol U5HL 247 ST YUl Udlsi-il GUARL W2 AHAL HLELR,

Al sARAAL BLsHL Ml Ucllst LR A4l 2LSUHL R © [ dvid 9,

2L5HIAL UHBLA 2 IR UcdlSl il 248202 63 Adl A3 (i) 2lSuHl dvid 6. 5L Esl a3ul
%dl %, kg, m, s, cd 43 Udlsl 8. 25183l el 2isuiAL A Seani €L dviidl <2l ©9di o Ssu-dl udls,
RstilAl A uyl qndd €ld dl dd 3Uedni 23 530 AHIRYRAHA ML deid O, Geleal dils, ey’
w54 HI2 m, ‘day’ 154 HI2 d, ‘atmospheric £6UBL" 54 {12 atm, ‘hertz’ 154 HI2 Hz, ‘weber’ »i54 412
Wb, ‘joule’ 3154 L2 J, “ampere’ 54 HI2 A, “Volt” 251 U2 V, ddIR, 15 2Auale 89 L % “litre” 2154 Udls
€9, 2 2Udle, 48 WIUHL duildl 2082 [ <l 210{l Avais 1 418 SRu1 [Raldl Avid 8.

2sHirtl UdlSiril e Hd YellEH Ysid el 219 olgaAnul ua d oledldl 2l wel HsaudHl JuHl ¥
aviiy ©.

Beleel dils, 25 centimetres Aol HIE 154 Udls 25 cm diLs @viid 9, <[ % 25 cms 2444l 25 cm 433,

AL 12l (/) s5d isial 253 Udlsel ollost 2isH Udls ALAAL ALLSIR sAldal % QURAA B, 25 % B5HHL
25 52l Ay AR dldl (25 sl Ay deidRl) auidl el

BelgRRl dls :

m/s” »dl m s> (m 24 572 a2 ooyl AvilA), uid m/s/s dls LR,
IPI=INsm™?=1Ns/m*=1kg/sm=1kgm™' s, uid 1 kg/m/s a3 Ale.

J/K mol 42141 J K~ mol ™", uiq J/K/mol a3 <8 a4di3.

c ~

Yol U5l A1HLu 3 (A14L) 2LSuHl 9uId 9 244 YaoL Udls 2t 254 Uddls 422 518 UL il A2l 2

=
~ by o) c 2 c

2sH UcdlsHl Aws Sedis wid ydoL udlsl, SIaisusl saig->tyalisl 3 opaist salddl 2 211a50ul il 5
Hlel Sld, R duild €9,

BelgRRl dls :

Foudie (1MW = 106 w); Al A5 (1 ns= 1077 s);
Al (1 em =107 m); 51324 (1 pF = 1072 F);.
Bardlex (1 km=10°m); 5SS (1us = 1070 s);

ez (1 mV= 10" V), Blusey (1GHz = 10° Hz);
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Beldle-»tar (1 kWh =10 W h =3.6 MJ =3.6 x 10°J);

WosAU (1A =10"°A); W5 (1pm = 10 m);

292214 (1 A=0.1 nm = 107" m); adi3.

WSS S5 P 1070 m, 2ed 3 15122 tAGR 6 drl 2L UM HoL Hleel Yls dRLSA AN W2 ULy
69, 2l o N AL5UU HEURAHL QoS- AdAsUl 4 ddld BBV o 332ler 21adl 1077 m R 8 d
qQuaty 9, ddl % d uHLgHl gl S8l (sub—atomic particle)ril HHLAML 28984l AA50LAL AAASHAUL
254 ol ¥ 10725 m? 6lACIR B, d AUAY D, %5 Aol HiddL Busel Hidsle’ A1A AL A Al d HIZ
WSS BisHA 2L HIOSIA’ A uAe sAU D, STAASHL Hl2R 2 As=4eil 2L AAdL 251 5 2AyRLls st
(cm, km, um, Us, ns) LsHIrAL A5 i 24al 4 wdl asid dai udlsiq Huiel 52 9.

o 212 sl Uclsil 210100 Yol Hsai »id © AR, Ydol A Ucdlsd Addloget, Bisud «td udls oweua © 34
Bt 5 o8B Bl S A21 2L AsU 9, ol sH UdlSL Al A AL AU BU5H oLl O, Hldislel
oltetll (MU ML oflogdlBld Al 2l €ldl.

Gelewl dils :

cm® <AL 218 990 (cm)’ = (0.01 m)*= 10" m>, & -l 5 0.01 m® »1aa

1072 m® 2taal 1 em? (m? 2018 ydol ¢ 422 oout vl €la, dl d el 8 5128 5 ydol ¢ 24l Udls s
8 i, isH Udls w18 sl Ry d-l S olilds Aedsdl 5 2aidot sWRac ell.)

ddl o d, mA*L 24 Al (mA)’= (0.001A)? =107 A% & «le 3 0.001 A? >tudl
1077 AZ29al m A%

lem™ =(107m)'=10"m™ ", uig 1 cm™' 2iaa 1072 m ™" «l.

Tus ™l 2t éaal (107%)'=10°s7!, &, wal 1 x 1070 s7" .

1 km*l 242 8l (km)* = (10° m)*> = 10° m%, &, wal 10° m? «1l.

Imm?Al 242 Rl (mm)*= (10 m)*= 10" m?, ©, 42 107> m* «¢ll.

SN

o ydol 58l wisal qurldl «todl. d dHal wsH Udls Ada O e visH UdlsHl uddl (2006) vy B,
GeleRl dils :
10°/m? <l 242l 1000/m> &4l 1000 m >, 8, Rl k/m® »taal k m ™ -l
108/m> L 28l 10,00,000/m> >t&at 10,00,000 m >, €, WLl M/m?> 248l M m > .

o ydot udls 3 2isH udlsell ol s v 8. dudl a2 oouL il Al AR FSHIAL ALRUISIR A AR HEH
Ucilsl el el ALl woUl AvilA dviy €9,
Gelewl dls :
ms™ (m i s™, Udlsl, m2in s Aiell HaR B gl YEL 2l 2ecdol 254 UcdlSL 2455 metre U second Hi2eL
6, durl a3 414l ool ©)il 14 ‘metre per second’ £ U8l ‘milli per second” «t2il.
adl o A ms™! [Ucllsl m 2t s 2isolon-ll v s @uia 9. ydol milli Wl ydol udls m 14 2154 udls s
ALl 28R (215 ‘second’ HI2) ALEL dMe{l a2 oyl AL (AL i ms A Adl AAU¥d w1, iLcld qauiiy)
<Al 212 “per millisecond’ & gl ‘metre per second’ Azl mS™' [UdlSl m 2t S isoiloa-dl vol Aws quiy 8.
ydol udls m (Yol milli H12) 2t 154 Udls S (354 ‘siemens’ H12), 42 %04l il A2l 14 ms 15 ~dl
AWl 254 6leAld ©9.] L 2 “per milli siemens’ © 42l ‘per millisecond’ &l
C m [Ucils C 244 m el dviid €9, d2il 254 Udls C (‘coulomb’ SU5H HI2) il m (‘metre’ 154 HI2) 2% 53 69,
Axr{l 922l oy 2wy ©9.] L 248 ‘coulomb metre’, €9 8L ‘centimetre’ &l <313,

2 NN

o U2 M5 YL U ld IR 6 Yaoli-ll Guallol sl el
Belgul dils :
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10~ m = Inm (nanometre), T{Q'g Imum (millimicrometre) <i[g.
10 °m= 1 Wm (micron), Hé% Immm(millimillimetre) <i[&.

1072 F=1 pF (picofarad), 42q, 1WUF (micromicrofarad) -i(&.

10° W=1 GW (giga watt), Hic\g 1 kMW (kilomega watt) «i[& a9l3.

o R laAsANUA 6 3 ay HsHIrL AU AU Avid 8 UL sl 2 UMl UdlSid Aot s el
Gelewl dls :
joule per mole kelvin 4 J/mol K »tadl J mol™' K™' dl3 auiy &€ uol joule/mole K idl
J/ mol kelvin a4l J/mole K d3l3 & 492,
joule per tesla <t J/T 242al J T~! d313 wel qvuy €9, joule /T 2444l J per tesla Hadl Jtesla dZl3 <& <313,
newton metre second <t N m s d3l% @viid 9 42l Newton m second 144l N m second 2424l N metre s A2l
newton metre s d3l% @viy Q.
joule per kilogram kelvin < J/kg K 2tadl J kg™' K71 ddl3 dvuy ual J/kilog K 2444l joule/kg K 2A2c J/kg
kelvin >12141 J/kilogram K a312 d3l% dviiy [,

o oLyt Addl ot Ydot udls viaui isH udls A2 B 9 ul Seui .

Belgel a3l :

10° N/m? 2L N/mm?l oled af qaieidl dd dvial W2 MN/m” 4 wabisdl »iu 9.

% AvALHUHL RIS AL HAYTS dL2L5L FHL 1000 2494 d23 21d da 1057 (%ul nyails 9.) a3 dviairdl
wAB15dL U1, €9,

o U cllfasABL U2 A AllasuRvilAL 254 112 d % () Udlsl augudl €l AR Yel a8l
o33l €9,

Gelgel a3l :

AUASABL A%t (W) BN (m) A ReAUADL (g) ~ll ARSI a5 udlst W, m 2 g -l ueui Seulds (slil)
ASUML W =m g, a5 m A g 422 UL AVl ud 9. dHA 21541 watt (W), metre (m) 21 gram (g)L
2154 UcdlSl A1 fAaal <A B, 85 W=m g, AH|520141 Udls W a1 ld 9, %+l 2isH udls N, meol ald
£ =il DisH Udls kg 2l g ARcAUARL £l B, FAL 254 Udls m/s® B, d % Ad F=m a, wlseml udls F
ol £1d &9 Pl 254 Udls N9, m e eald € =il 2154 Uclls kg 1 g ARcAud0L 2lld 8, Pl 2isd udls
m/s* 9. clllasARAAL 24 UdlSiA 21541 “farad’ (F), ‘metre’(m) 2171 ‘are” (a) Al 154 Udl5l A1 22949l
S5, Ucdlst h (uéﬁal hecto 24 3154 hour). ¢ (gﬁol centi i1 154 carat), d (Hﬁal deci vt 254 day), T
(HﬁOL tera el V15 224, a (lgCiOL atto 1, »L54 are), da (ILCiOL deca 21, 2154 deciare) 4913 AUl avid
Aoy, &g (dslad) saladl s,

o cul-ll Y0eid ST 154 ‘kilogram’ 215 cgs (centimetre, gram, second) 154 ‘gram’ < SI uz\ciot (¥is oRLs = 10%)
‘kilo® 4l eildd & e wRRuH evildl o ddl 8, 2 dolldHl visu Hle Al ML ool millimetre
(mm) 58 6 URL en-l 2154 (kg) Ul ¢2AHL AL millikilogram sdaid -2l Ul Wiol gram sdald €9, i el
wcl iy Bedadl evild 8 5 eoell 54 gram (g) ©. w3l d W, Aafl. sudl uRRA 2eal we Geatdl © 5
248l ‘kilogram® U+l %ot oflogl sUE dlod AsH {8l wsAl el dell 248 2udle ds ol sulL s
2 YT RIS LM, gram’ 2oe~dl 18 Yol A oty B, “kilogram® A6% 12 AL,

Gelgel a3l :

10° kg =1 megagram ( 1Mg), 43d | kilo kilogram (1 kkg) (8.

107° kg =1 milligram ( 1 mg), 43¢, | microkilogram ( 1ukg) (8.

107 kg =1 gram (1g), u:q 1 millikilogram (1 mkg) (&, CNER

5302l L ollotd-d Bl AvAL © 5, dHIL HLARARLA ML W 2 HAMRL 53¢ HsHL % AUl A

254 UclSL @uiciil A FUHl 2 Hlesind wetd 5201l Add Hetaiell ST 4L, Ydoll 21 4oy demiu

cllasA Rl HoilBd udlsiql Guaiami Mygidl Aaasil,
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uRR[are A9
QldsA@A wRHs yol

54 clasuld 2y AlfsAR2A WA Aoid uRaal wRHBs Y

(S. (Physical Quantity) (Relationship with other (Dimensions) [(Dimensional
No) Physical Quantities) Formula)

[L?]
[L°]

&ols0l (Area)

l st (Volume)
I gU-8-dl (Mass density)

[MJ/[L?]

adl [ML ]
- i1t (Frequency) 1/[T]
5. 331, 36U (Velocity, speed) [LY[T]

| 6. U39l (Acceleration) [LT ' /[T]

7. o (Force) xuR Ly
8. ol uaid (Impulse) aaxww  [MLT]
9. s, Gad (Work, Energy) aaxaAe  [MLT2YL
10, waz (Power) s MUTYL
11, 3s6ust (Momentum) eaxd  MLT
- oL, uldoi(Pressure, stress) _ [MLT 2)/[L?]

(asld (Strain) [L])/[L] 2Axdl

[L*1/[L7]
. ML T2
EDIREINERD ML T 0 0]
M1

(Modulus or elasticity)

15, sl (Surface tension) amdad  [MLT2YL

- yvsGlos (Surface energy) _ [ML>T2)/[L?]
- da1-uAds (Velocity gradient) _ [LT_l]/ [L]
- 2oL18L WAA (Pressure gradient) _ [ML_IT_Z]/[L]
- ol121Glo (Pressure energy) _ ML~ T 2% [LY]

[MLT 2]
[LALT '/

-l d8Us (Coeffeient of

viscosity)

l s, S1ella 22uidR (Angle,

angular displacement)

[LV/IL]

BrsBidla ol
(Trigonometric ratio)
(sin0, cos0, tan0, etc.)

[LV/L]
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o rrveor AR
s12(l4 U991 (Angular acceleration) _ [T_l]/ [T]
Zl.:‘slcl({"t [Brosul (Radius of gyration) _ [L]

o sccte{l ALSHIAAL M] [L?]
(Moment of inertia)

Suefly Ao ML2[T Y
(Angular momentum)

o1+l A5 oA Al ALSHAL [MLT?][L]

(Moment of force, moment of couple)
2l (Torque) M'L2T /(7]

»2al [MLT 2][L]

S s, ntr eqeney) BXCARL )
s (Wileng) S

goie 21205 (Hubble constant) [LT /L]

o) s (mensiyorwave) | Geeufien | (MLTTHLY)

(3381 eollvl (Radiation pressure) [MT_3]/ [LT_l]

@@ eriod

ML ML

GloA-aridl (Energy density)

siladol (Critical velocity)

ML (L]
[Frs42L A9L (Escape velocity) [LT 2% x
[L] 12
Ge{ly Gl HidRs Glod [MLT2][L]
(Heat energy, internal energy)
a6l (Kinetic energy) [M][LT ']

[R[iGl2A (Potential energy) [M][LT2][L]

150Ul Glost M°LOTO] (ML

(Rotational kinetic energy) X [T_l]2
) . [ML’T?]
sl&Hdl (Efficiency) IML2T2]
S Al B T
212
ARl 12915 (Gravitational %

constant)
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wils 225 (Planck constant) @eApuglR  [MLT YT

G Rell, A2l [ML*T?J/[K]
(Heat capacity entropy)
(Al iRl [ML*T)[M][K]

(Specific heat capacity)

did BwL (Latent heat) [ML>T2}/[M]

Go{l4 UARRILS (Thermal expansion [LVIL]K]

coefficient or Thermal expansivity)
[ML*T ?J[L]
[L?] [K][T]

[]ML'T ]
]

GeHL-alS Sl (Thermal conductivity)

oles Hiay vadl (soi-{ludl)™!

Bulk modulus or (compressibility)™!

Segoa{l wdol [LT /(L]

(Centripetal acceleration)

[ML*T 2]
g+ 244015 (Stefan constant) (2K
dld 211915 (Wien constant) [L][K]
ollcegiirl AHANLS Boltzmann constant) [ML>T2}/[K]

- o ML T 2113
AdBs Ay-lHudls T

(Universal gas constant)

Fieteu (Charge) Bamas /e AN
dloruale 8-l (Current density)_ [A)/[L7]

qlezs, RadRuQHIA dsidd, [ML>T2J/[AT]
dlosales o1 (Voltage, electric
potential, electromotive force)

2—=3 =1
414 (Resistance) %
5U[4ew (Capacitance) %
IML2T 3A™"]
[ed e sdl el ([[ed- [ML>T3A™?]
alesdl)~! (Electrical resistivity [L?)/[L]

or (electical conductivity)™!
[agydéit (Electric field)
[aeidsa s (Electric flux)

T YT
Paghaxien s




YRA%e (APPENDICES) 217

MR [ML?T?]
[Qgd slauld HiMe2 —
N [MLT A~
(Electicdipole moment)
23 Al
[agdain-l dladt aaagddlad (ML IL]A ]

ot 8ot Aot 514 55U AL, [MLT 2J/[A][L]
Q::Lf’{“s(l‘-ljl.?ﬁl (Magnetic field, magnetic
flux density, magnetic induction)
il s (Vagnetc fuex) ol e MTPATLY
IML2T2A™Y

[A]
[ML>T2)/[MT >

A7 or [A][LY]

U5 (Inductance)

2oisla Ul qiH-2

(Magnetic dipole moment)

s : [L2A]
2ot sl oo, 2 slu dlsil o
AU YL S1Y HIH w2 Bt dl(Magnetic
field strength, magnetic intensity or
magnetic moment density)
[AT][AT]

URAAELALS (5 AHasiel Hie) [MLT 2 (L]

Permittivity constant (of free space)

MO MLT L)
[AIIAIIL]

URARAL (M5l 2518 HIR)

Permeability constant(of free space’

[LT 'y
[AT]/[mol]

mesdas e

[ML*T 2J/[T]

aslaasils (Refractive index)

333 21¥Ais (Faraday constant)

doRivyL (Wave number)
(al3e sasw, (a3 alst

(Radiant flux, Radiant power)
[ML’T3] /
MOLOTY

(als2e sasaurdl el sl

(al52el dlsidl (Luminosity of

radiant flux or radiant intensity)

oAUl wlsd 289l Ald-L @Al
454 (Luminous power or

[ML>T2)/[T]

luminous flux of source)




allasl@siA

X N [ML*T ]
o ld dlsdl 2iadl Ald-dl el 0,00
ML’

31(5d (Luminous intensity or
illuminating power of source)

welud dlaidl iaal edlfeiady [ML>T)/[L?]

(Intensity of illumination or luminance)

A4 %Al (Relative luminosi @
(Relative luminosity) ML2T ]
odl[c-8 4l (Luminous efficiency) [ML2T-]/[ML?T-]

W g 284l W

(Illuminance or illumination)
eualld (Mass defect)

(sl olunGlod
(Bindingenergy ornucleus)

gu[Udls (Decay constant)
2erle g

(Resonant frequency)

aelatil vis 2Adl slda-l
Q-3522 (Quality factor or
Q-factor of coil)

A=l Ylaz (Power of lens)

Hiz2agil (Magnification)

dédgst-l e (Fluid flow rate)

SRR daise
(Capacitive reactance)

Seslsea Avisern
(Inductive reactance)

[ML>T3)/[L7]

[M]

M][LT ')

|
—_
[—

[T
MI2T 24727 x

[T ML2T 2A 2
[ML*T 3A 2]

_1]

[L

[LI/[L]

ML T 2114
ML 'T [L]
T !
[T 1[ML?
T2A™2]




2.1
2.2
2.5
2.6
2.7
2.9
2.10
2.11
2.12
2.13

2.14

2.15

2.16

2.17

2.18

2.19

2.20

2.23

2.24

gcloll (Answers)

UsWL 2

(a) 10°; (b) 1.5x 10*; (¢) 5;(d) 11.3, 1.13 x 10*.

(@) 107; (b) 107 ; (c) 3.9 X 10" ; (d) 6.67 x 10,

500

(c)

0.035 mm

94.1

@1:;(0)3;()4:(d)4;()4;(hH)4

8.72m’ 0.0855 m’

(a)2.3kg;(b)0.02 g

13 %; 3.8

ULRULELS ¢[R31 (b) 2t () vllel 8. Yl : Busiadla (@8-l sivis (argument) ¢9al uWRHIRIR (S
Sldl A LS.

WY YA m=my(1 — V)"

=3x 10" m’

= 10% Al ML a2 2id 2Rl URHIBL Sl w4 HIg i .

gl Rl sl sl aaqall, (MRlasl v 010 Hiel vell oild ©. s di oUld S 9L AR
25l Al sl g+l Al 2 S1elld 33512 el Sl B, dell i uelal dHEl AlA s BuA 6B,
Ui sl uelal [A3g Bl %dl weud 9.

=3 X 10" m; dotls-l 254 dls 1 parsec, 3.084 X 10' m 6lAGR AvUIRid 234 ©,
1.32 parsec; 2.64” [second of arc (A1u)]

1.4 X 10" kg m™; 342l 0 8etcll aet/uclle] el addidl [BaiRul i 8, aydl addidl Ryl AR,
izl Glal aridl; el 2iestl 22U A3 LIRxL 2 U ARldl 2iER dRgwL dARccllsHalHL ¢dld O,

1.429 X 10° km
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2.25  yul:tan @ URARRASA €ld ASH. A2 Yot tan O= v/L 7Y, WAL U7 B AALEAL DU B,

2.26 10" 4l 10740 1 cual 2As5A1S

2.27 = 0.7x10° kg m ™. ae-»iara1ui umill wl2ivla aidal i 9, dal uRHigy s dsdl, 8- usie-l o

Ardldl s Sl O,

228 = 03X 10%kgm™ ;45442 dedl claldls d sl uam, a-ddist 10" ol €.

2.29 3.84x10°m

2.30  55.8km

2.31  2.8x10% km

2.32 3,581 km

2.33 yadl: e/ (16 77 €;m m’c® G ) uel qdad Uk 8.

usWL 3

3.1 (a), (b)

3.2 (a)A..B, (b) A...B, (c) B...A, (d) d %4, (e) B....A.... %1592,

3.4 37s

3.5 1000 km/h

3.6 3.06ms ;1145

3.7 1250 m (-l : B+l ol A<l 1ué o2il.)

3.8 Ims”(Raril: Bt CHl ala Al awual g2il.)

3.9  T=9min, o4 =40 km/h. 32l :v T/ (v—20)=18; vT/(v+20)=6

3.10 (a) RiRidor »ul2auml; (b) 4w d2L, 9.8 m s <l UddL U2 (c) x > 0 (BUR drgwil 2 ~{lal drs+l
Alet); v < 0 (BUR d2g), v> 0 (1A d=8), 95 Yl >0 (d) 44.1 m, 6 s.

3.1 (a) AR (b) Wi (o) 1, (8l 581 i@l d % Ul Uil 3514 (rebound); il 242 UADL Heid € S A1y, %
llcts A asu Al (d) g (R we 53¢ an [Ran ol Raumi dlu il o wiz)

3.14 (@) S5Skmh™, Skmh™; (b)0,6kmh™"; (c) % kmh™, %5 km h™'

3.15 sR8L S, 1S AE[95 ALl AL U2, @l-idd MU vasl dous Fed iu 8.

3,16 ARY LAV A28 8, (a) 58U 25 o A 6] Yel Yel el L 615 AF; (b) s 25 % UuHA [Ag [aliui
Aol «t Sl AS; () BU SHAUL A 1AL B, (d) 581l et uAE6lLS sl AHY A8 82 AR, (-Hl, 2udvil U dl2
28l 8,

3.17 AL v, x— @AM 521l Ay saladl Al Asel : usldd £= 0 AHA 21 UYL (x = 0) Ugdl BAIHI
2§14 6,

3.18 105ms"
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3.19

3.20
3.21
3.22

3.23
3.24
3.25

3.26
3.27
3.28

4.1
4.2
4.3
4.4
4.5

4.6

4.7
4.8
4.9

4.10

4.11
4.12
4.13
4.14
4.15

(@) 215 dlAl AHdd U RAR AL ol dld HRUHl 214 9, d glad uel a2dl 5 Uil 514 8 i
AR e ds Ul 529, % dl RAR 52 9; (b) elidn 5855 WA[ALs dolgl BGUR drs S5l ©, i €35 Quid
Al 2859 qzel aouel Wil 514 9; (c) 28 Hafid oUa sl 84l 612 A3 voL Al AHUDLAL HI2
s251dl ULl 53 9.

x<0,v<0,a >0, x>0,0>0,a<0; x<0,v>0,a>0.
3 Ml HemH, 231 d@gd; 1 2 2 254l v > 0; 341 v <0.

WOl Uil 211 HeTH; B4 3 HL HedH; 1,2 934 u>0; [ 23 4ia>0,24la <0;A, B, C, D9
a=0.

(FaBid waollold Hie, Axa-21g q1d endl qRvi; Fald ald i AHA-2a- AHIdR
10s,10s

(@) 13kmh™ ; (b) 5kmh™"; (c) &35 [BaUHl 20 s, Hi-6UuHi]l AR d glrl AHAdUBd 24, ollos-l B8u 35
(2l 9 km h™'; (c) L <ol oledldl Yl

x, —x,= 15 t el [@swdt); x, —x, = 200 430 £ — 5 £ (a5 [Aeud).
(@A)60m, 6ms ' ;(b)36m,9ms"
(c), (d), (f)

usW 4

5%, 801, %Y, Erldl, Hid Aval, sielld il 2z 9; cusll ulza O,
514, [Rgdudls

oAl AL

s5c (c) 2t (d) Mt 530 A5 dal 9.

@TOFEEEMT@ET

Bustael siS ugl ol ouggell A0l (stieoitsl) =llo ollgy sl selli 201 (A1) &1 as R, s vy
AR HIS AHIAL @ldL U3 .

(a) Ricual o4l [Qandl acd 9,
€35 HI12 400 m; B
(@) O; (b)O; (¢)21.4kmh™

1 km 4l 24 3o [Baw 2412 60° st [aumi edidr; ga uadons = 1.5 km (ol »ti2l); dee 2-id
AL, vadesS = 3 km (981 24i2l); 866 m, 30°, 4 km (241841 21i2l)

(a)49.3 km h™" ; (b) 21.4 km h™". «ll, AL 38U AL A2LAL Hirl GAGR S5 YU U U2 ¥ €ld O,
[B21eol v Al sl@el ds daedl 18°
15 min, 750 m
C
yd (@deiol)

150.5m
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4.16  50m

4.17 9.9 ms, g5 [Big Bl u2 5 ds

4.18 64g

419 (a)vig (s5d Ralid ada ol 2 3)
(b) W, (c) A2

420 (@ v@)=(3.0i —4015)a@)=-40]j
(b) 8.54 ms™", x—>i& A2 70°
4.21 (a)2s,24m,21.26ms"
422 2, x—wa WA 45°; V2, x — e Wl —45°, (5742, —1/42).
423 (b) 21 (e)
424 55 (e) WY 9.
4.25 182ms’!
4.27 AL s dd eHel (Rotation) < AlBall A8 Aisoil s AL,
4.28  uHddrL &8s A2 AlzAA Aisoil wusA.
4.29 -l
4.30  [Rdet A1 sin”' (1/3) = 19.5° L 5181; 16 km.
4.31  0.86m s> dowl [Baun 8 54.5°

UsW S

5.1 (a)dl (d) udal [y Harel 1S Alvl (net) 6oL dldlg, el
(e) [Aadosly st aRedld ool Biurt sl ot gt UReollell d vot £ glalell SIS el dlatg, el

5.2 s [BRuMl vl Ho o ol (gatel R AAIdl) ¥ 0.5 N g2d, Rildot sidlfeasl 8. qriiél-l
ol Gled vl U L Sl dluat el otedldl el GRudH Bigal avilidl R Al uuu oufd eBidin dq
ol A0 Ay Hes ©.

5.3  (a) I N, RQRidel 24124l (b) (a)4l & d .
() (a)Hl O d o; 1S &l ool d Rl WRRAM U 2utRd O, Slasid u L.
(d) 2l aufadl [Baumi 0.1 N

54 O)T

55 a=-25ms° v=u+arudl, 0=15-2.5¢»d 5,t=6.0s

56 a=15725=006ms"
F=3x%0.06 = 0.18 N ala-l [z

NN

5.7  uRauMl sl =10 N, & 8 N oiail [Baw 18 tan™" (3/4) = 37°L 5181 €.
wdol =2 m s> uReuHl slal [Bami

58  a=-25ms7 0 [@AR145 6l =465 x25=12X% 10" N

5.9  F—20,000x10=20,000%5.0, a3 F=3.0x10"N

510 a=-20ms> 0<¢<30s
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5.15

5.16

5.21

1=-5s: x=ut=—10X5=-50m
1=25s: x=ut+(s) af = (10x25—10X625)m = — 6 km
t=100s: way, 30 s YL ol (ARl

x,=10x30—10%900= — 8700 m
=30s, 344, v=10-20%x30=-590ms"

30 54l 100 s 3l oUld =2 : x,=— 590 X 70 = — 41300 m

x=x,+x,=—50km

(@) SRALAL(F=10s¥HA)=0+2X10=20m s

uddl [Ram yoor, 95 Yol Aol uxfElaor aes 20 ms™ ©.

Aol Gl 825 (F=11s)= 04+ 10x1 = 10ms '

At

el (£=11sA43) A2l =207 +10” = /500 = 224 ms ' ¥ AR A2 tan™" (1) 5181 O,

(b) 10 m s [AR1del 2BML

(a) ¥icd 22 AUoUsAL B8 9 69, oA €131 stuaml »ud dl d RRleol steizauml usal.

(b) MeHIA, 2L A AH[E[A% oL . %l S1Z] SIUAHL 24U dl d URAAULSIR YU YR U3l

35E U AAdls, M gl dBl UR asudal ol W 8. Al [HaH AAAR d dlfidl a3 widd uR
ALAL dototal N 44l 21 [43g [Bauml 9,

() N=70x 10 =700 N ; 2adls 70 kg 9.
(b)70x 10— N=70X%5; 2adls 35 kg ©.
()N-70x10=70x5; wadlsd 105 kg ©.
(d) 70X 10— N=70 X 10; LS, U 9, A YU, Ol

(a) oL A8, QUL WAdL il dell oo 9=y, 9.
(b)r=0u44, 3kgms'; (c)r=4suHd -3 kgms .
%l 20 kg £01 WAAHL 21U dl,
600 — T=20 qa, T=10a
a=20ms ", T=200N
ol 10 kg e WAAUHL 1d dl a=20m s>, T=400 N
T-8x10=8a, 12X 10— T=12a
wWed 5a=2ms? T =96N
Qoruie AR&BIAL Rigid urel, ge iy Aot 9d 6. 6 dorHis UlRall-l UL A dOLMLAL A 2Ly,
R 5 dil A 214 [A3g Rl .
£25 olld UL 2L = 0.05 X12 = 0.6 kg m s (HurtHL). 6L 2ualdl AHIA 24 (434 Rawul 8.
oMl ARe&RLAL GualaL 531 : 100 v = 0.02 X 80
v=0.016ms'=16cms"
R[G5 2 ilax Rl Beuws u2 2ualdsdl Ral 8. dd
0.15 X 2 X 15X c0s22.5°=42 kgms'®.

v=21x1.5x30 o ms!

60

, mov>  0.25x4m° con
TR 15

2
200 = %, duell v =35ms’"
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5.22  ugal [Ruu Harel [ased (b) AL 9.

5.23  (a) dloudlAl dat v Hsd (vidl) stastani 1S olel oo el il 2id ol aiAl R ool
e A 9, (oflol Hun). gl v, dot 2t ol 42 2us oo (adel) dHd RaR Ralauial
afaml @ld 6.

(b) 6lss A AlaL Ausui Al d a2l s A,

(c) dlt-3ar (-studl Halld)d 2435 5180 ooy qaudl- vzl wsiy stadl asdl wsid. wdR diL 45l
QU1?, GledlRauninl Adet H2, doiota drll d%=t sl a4 €ld % ASHL 2L uRRuH d? aeisn
F(foc N) col 8 i el ould s1aal a4 Hiel ool %32 Ul 9. viadml Ud AR vit-idl eliedR
(s wd 9.

(d) olldl 2A250dcl HIZ dtHIAAL 3351+ 8- Helsdl HI2 24 defl %330 sl selsal 2.

5.24 1 cms '+l 242900 B5udion usld 2 g2 25 Ul x =0 el x = 2 cm HIRA0L 610l HIELL AISL 8D, el Hirl
0.04kgx0.02ms'= 8x 10" kgms .

5.25 Qflm’j; (net)eln = 65kgx Ims’= 65N
a”’lﬂx = ﬂV g = 2 m S_2
526  [asew (@ u@Al O, HAHL 5, mg+ T, =mv}R ; T, —mg=mv/R

AR 2 B 5, AL GelewMl sl Gettadl dRAlAs 6lall (dBua, Acd ot a9l ) du-iell {luzdl
sewoul Udol v/R 5 LI/R WA dAAal AL,

5.27  (a) ‘Free body’ : 2215 i ‘@iliﬂ:l
Al gL dot R ol = F BUR dRg;  dale d%l = mg 1A dRs;
S F —mg=ma
F—300x10=300x 15
F =75%10° N Gur dzs
Slo [ uRell, 2215 2 HAE gL d@l U 6t = 7.5 X 10°N {la drs.
(b) ‘Free body’ : slas1ex + 2215 + HAISU
gl 43 dat U ool = R BUR dRg; dotd 4%t = mg -{la d=s
S R —mg =ma
R—1300X 10 = 1300 X 15
R =325 % 10" N Gu2 s
Alon [y uRel, dlasier 4l gal wrd oot =3.25 X 10° N {la ds
(c) 3.25 X 10" N BuR dzs
5.28  glald U2 e A5y wAdldl well- ea
=10°kgm > X10° m*X 15ms ' =150kgs '
gldle ad dalg ot = Uil 2 As<S dIdd Aol =150 kg s X 15ms ' =225%x10° N

5.29  (a) 3mg (<2) (b) 3 m g (-1A) (c) 4mgBUR)
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5.30

5.32

5.36

o Uivil U dol 6l N €ld dl,
2
NcosO=mg, Nsinﬁz%

2
N 200 x 200
dwyl R=—2VY = =15k
¢ tan 0 I0xtanl5® "

2a-l el a3 dlasdl ot dzsll Gualdl 1R u2 wilAs (Lateral) 455l glRl Swousl ot Y3 wiscimi »ud
69, ollon [Fam Howol, 2 A 24 (A [RaUAl 3L wiel UR 6101 doutd €9 drll dlf suRl ueia .

2
. < - _1l v -1{15x15 o
Rl = - | = =
lolal 581 = tan (RgJ tan (3o><10) 77

AqerHl HIBR YR dlaldl 6l [QAIRL : dd %, £l1241 a3 dldld oo, dlid a3 dld deein
(a) 750N (b) 250N (b) d uiad] B,

(a) T—400 = 240, T=640 N

(b) 400 — T= 160, T=240N

(c) T=400N

(dT=0

(321 (a) i el dél xal.

UL A i B uelal 21 ¢ glalet 422 2yel dus il adai ¢l i Bruml laa 4 (Wlu) B us
2a-HuuA ad doteta 200 N Fed 8. 515 21ilad (impending) 2l 3 adel A2, A 2im B a2 Buisi v
iAot uel 200 N 8, o413 €lld £ 54l 21d IR Al 8Nl dloldl Hid 9.

(A+B) -l wddl = [200— (150 % 0.15)]/15=11.8 ms™
A vt adRIe = 0.15 X 50 = 7.5 N
200—7.5-F,,=5%11.8

Fy=13x10"N; ala-l [aya (2wl

Fy,o=1.3x10>N; ala-l [eaumi

(a) odls i 2idl azd-l Ul (impending) Altal oUfasll (A4 53 2054 e aiRie = 150 X 0.18
=27N, d gidl A2 elisAuA UaABId 524 HI2 %33 adRietn 15X 0.5 = 7.5 N 5di a4 9. a2 gidl
Fafd (>ta0) ol ol 52 9. Qu edls U 518 g dold -l

(b) Al (oscclla) Mlas =2, aupl ool drl Fedl % Hiddo 2Ueidl oo gkl [ i 9,
el Mlasl uual olisd R 28 9. R 2idl HaBid doel ald 52 9 u aulamir (scl)
Mdlas w2 siS sucual o aid Al 2 wel dltg el

gl ¢fl8 olisueAl UAol = g = 0.15 X 10 = 1.5 m s> Ui 25+l oL AR 8. olisu-l 25+l U8 udal

) . . R 255
0.5 m s> UE9uLL B4l dRs 8. 25uial ollsA udl wal dldl qHy, = 0—C5 =205, »i uuy el

25 =" X2x20=20mid? 51U 9.
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5.37

5.38

5.40

6.1
6.2

6.3

6.6
6.7
6.8

6.9

N ~

Russinl dsdl WA el s2aL w2, wiRio, Swwoudl o y3 widl 9 ded yad €ld ASH, vied 3

2 ~ . 2 N ~ S N N by ~

MY <umg. ¢d,v=r, %l 0):?11 3 dsdl-l Selly 2ugR S, 2uda p i o, WS < ug/ o® A
p

ARt . ML A, Wil 495l U351 gL Ay 89 (5wl 4 cm).

. Y 2 N Y hY o e N N
GRudH Bigul, N+ mg= M o N 3l 23613 19d glal Hle Als(ére u dld doetoto (A ds) ©.
o R o

Gy (Blgvl U d8dd 35U N =0 134 6.

Red 3, v, = JRg =25x10 =16ms™

glald al W U ald AH@Eke da N, %33 ol sl YL Wl 8 0 N =m R . adielo f
(RR1dol Gledlzaml) aoet mg-l [A14 53 9. a@aid g2 sl wsdl iR glaid 418 Al & d e

mg =f<uUN 2d 5 mg < ftm R . AUsIRA AHC-{| q8dH sl BU @, = Jg/uR =55

PR Rl HABigA sl Bl ulea, Riider 2ifzan wie 0 S8 ot-ild R lull-l free-body
diagram (G221 2R mg = N cos O vt m Rsin O @ = N sin 0 141, 21 u+{ls2ell uell cos 0 = g/Rw’.

cos 0 <1 glaell, ool [Farddyn Bigr ¢ d W B =01 o < \/%.

mzdz?g Y12 cos B :%Q;taél 5 0=60"

UsMWL 6
(a) +ve (b) —ve (c) —ve (d) + ve (e) — ve
(a) 882J (b) 2471 (c) 6351 (d)635]

Aot (net, wRewHl) ol 43 ueld u2 4dd sl d-l ARGl 33512 6RIR B,
(@ x>a;0 () x<a, x>b;—-V,
(b) —o<x <oo, ¥V,  (d)—b/2 <x <—-al2, al2<x<Db/2; -V,

(a) 52; (b) Arellotnr W2, 518 ua U add 514 RAMQGAA-AL 33513+ 8L GG O, Yol &l UR,
RAMGAML 51 3281R udl #el. (c) ARG afl B, ua RARGeA 42 © 2 aval [Aygul Gl dpual
AL 82 €9, (d) oilen [Bruul

(a)82; (b)aUlt Gloa (c) oiel oo (d) 5@ 2vila dotisd 24 @ Glost wat (L 6L ueldlle dot x1aol 53¢ €u.)
(@ F (b)F (¢)F (d)F (uxiwd 3 ucd w9l dxal A, 54 ?)

(a) -l

(b) sl

(c) wRAlRAMS Auld eAMain 3v{ly dolHin A& 2 9, mdotd, Auid Yel 24l olle wal ARGl
Ara ag el (2un il )

(d) Ry
b) ¢
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6.10
6.11

6.12

6.13
6.14

6.15
6.16

6.17
6.18
6.19
6.20
6.21

6.22

6.23

6.24
6.25

6.26

6.27
6.28

6.29

7.1

7.2
7.3

7.6
7.8
7.9
7.10

(C) t3/2

12J

Sasgin ag sl ©, v,/ v =135
€35 LLUUHL 0.082); —0.163 ]

gl, (38, + €laid) dotd dormid a0 ¢ 8. lald Wemi RAR Wil ddi, glaldd Aot + eldR %l
218, AoLMLL GRAAR 2IER 2ilddl 248 Aot €1y d Fld €laldn recoil (ULesL Usd) ddtHiA €9, %5 recoil
Qo Elatetdl vod Hlel eaq ¢fld oy dol Gt 53 9. ol usl e ad il Auid
Ralcralus ©.

43.6 kW

(b)

e MU Ao ol 2l & 9 e o1 wRL Gl2 ol el
53ms’

27 km h™' (3p$uni 516 33812 Q)

507

(@) m=pAvt  (b) K =pAv’t/2 (c) P =45 kW

(a)49,000]  (b)6.45x 107 kg

(a) 200 m* (b) M2l 8L 14m X 14m URH1LLAL0N 91U A1 Avicl A1,
21.2¢m, 2857

AL, a4 Glal AHAE UL U dlfd addl ugiEl ©9; L, dil s AMIA BU (u) dl ugiA 9. [s1R8L 5
mgh = (1/2) m v* ]

v, =vu,.=141ms" ¢, =22 s, 1, =22 s
0.125
o (3241 *2 8.82 .

6l1015, WIRAHL 2lellal 2ALELd U € 24 wedl 2ieledl Aal dotefl AE 4 m s7'HL 20 doiel €13 9. olelwl
(las Wi doris A&l @y widl 10.36 ms™, 25.9 m.
(V) Rcianl oit 21054 €9,

usWL 7

g5 O[S Srg. AL, RoL, dldl A0SR, el 2o, Wil 8- 4934l 93 CM ueld-l sl ek €S
Ql"\ “\
H 2t C1 yfseaiia sl vl uz, H gl 1.24 A »id? 8¢ 8.

=)

G

(2lell + olas) L otriel datsll CM=il 356U 220 (AU v) 28 8, 5120 5 dol U 518 6lleL 610l @l <l
2lel uR euotsel elsall Ml Asoudal ool 21l datdl 24dRs sl 9.

[=xp, —yp, Il =yp. —zp, [ =zp —xp.

72 cm

€35 URLAL UL YR 3675 N, €35 90l Uil Y2 5145 N
(a) 7/5 MR> (b) 3/2 MR?
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S
Bl = 3125 J; S8l dolMid = 62,5 s
(a) 100 rev/min (5124 dotHid A4 AIURU.)

(b) Al A5l Glosial wizlds Aol Gloteil 2.5 21efl 8. sins d-fl 2HidRs Glod-dl Gualol s34 dl
215U Glod il 9.

2552 10 ms™
36 kW
4 dsdlol Smsell R/6 iR, stial caidl sl [A3g oyt
66.0 g
(a) 8L (b) €L (c) LS GLUUAALIUL UHAA UR A, AHY AL (*.* a o sin 0)
43
6.75 x 102 rad s~
(@)3.8m (b)3.0s
el =98 N, N, =245 N, N_ = 147 N.
(a) 59 rev/min (b)-iL, SUAGAHL AR A & A d Hed UBAHL sl suigl 2ud O,
0.625 rad s™
(a) stelld dotHiAAL a0 uel, A S8l 3y
w=Uw+ Lo ( +1)

(b) A dscllll a2l adelly Aus % dHA oidd Auid Seld 38U o U dld © dui Adl au dlE -
Blotml aeldl ad 8. A% wueell Gestddl 215 datril vie-l dlal sl doin seed 4l

Al 3L = @, R Il leausl; Bell 43 = @, R dl=-l [43s Raudl, Cl dol = @, R/2 I+l [Raumi.
R AHdd UR dsdl oLl R,

(a) B W10 &ngieior Beil Aol [aR14 53 8, 21, g dR- Rauui 0, anziell Gemadl sl Bau
2l €9 5 d stefld oufartl [AR18 52, @, 2 T ol wislil Yoeel dot 9, udd, Uil e drg g 2t
oflg wiiHiel el ds wuad.

(b) ot Husbig Bel Aol ©ell &, 21l Aol 9w ol dril UREUH AYEl dleisdld A3 53 8. HAsAR 24
ol Hed YuRIeo Y Ul 6O,

gl CM W05 g4 dotell waAlid 52 8. adaeagl Gestad 25 Wl sielly s @yl wlandal
Geurt 52 9. Aleri w0 c g mg=madiy mgR =—IodviwRll v=u gt. 0= o, — i
mgRt/I AU V=R @EM AR Aol 93 A 89, Bol (dad) W2 T = m R* 21 1= @, R2 M g N
U2 dLeLselled A3 A B, sl W2, T= V4 m R 2t break line 1= R /3 4 g &4 HI2 Sletsdllsi U3 414
8. UH R Ul @, oirirtl AL Hedl Hie dsdl dtdsail Bl addl a3 52 8. drdlas Ad dwotdl A1l
YellR=10cm, @, = 107 rad s, 4= 0.2312 Hacll asi.
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(a) 164N
(b) Zero
(c) ad™dL 37°

usMWL 8

(a) L.

(b) €1, % vasiaai-dd WRHEL (size) ed HIg Sl 5 d gil Adl 5812 vieidl (wrvll) s dl.

(c) B0 % idRell Adll it UMIAHL olscld i © deliefl [Quld ®Rdldl 21U 2dedl Gl drd
WHIBIHL Gledld ALY, €9,

(@) 428 (b)a2 & (c)usld-l en (d) At
0.63 ol «uu-il

3.54 x 10° years

(a) 2l Gl (b) sl

(a) -l (b) il (c) -l (d) &L

[[FesHa doL, uetedel g0l 2t WA s2au-l o U 20aiRd <l % Bigaial d-t sisadiui (di-= saaimi)
29 o [Blga dRcd RAMMIA U d 2R 9. 24l RAMMIA (A1 2iel) el 2 GRS U 2usRd
dlal; [FvsHpL do (23 249) 241 uRotoll v 28R €9.]

AHIU 581l U 518U AoHIA 2 5@ Gl Ricuusl ot AR sled 8.
(b), (¢) 4L (d)

2l 8.11 2L 6L Ul W2 HNUHI] Lol Yol 530, P ot C, ol 1010l Rl 220 8 i del
dlstdl = 0. 2l 44 Lo W2 () 2t (e) A B,

2.6x10°m

2.0 x 10° kg

143X 10" m

28N

125N

yeell Szl 8.0 X 10° m
31.7 km/s

59x10°1]
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8.20
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8.22

8.23

8.24

8.25

2.6 X 10°m/s
0,2.7 X 107 J/kg; 4ealbigal H3a ueld Ryl Ada-Hl 8.
—9.4 % 10° J/kg

GM/R=23x10"ms2 0 R=1.1xX10"m s 2l @ a1 uRaHadl silla 3su 9, »ud diil
Al sl [MEL FHHL drl [AYagT UR »iER dRE 6l 6Ll dREHl Smacdlall ol sl ag) Hig 8. el
ad anofld 28 (2 Sescldll el 18 g2 Mol S ) il 5 o el sieild 3sgu 2000 218l {1l
S 209 dl ueted dd eudlA el ol

3x10")J
495 km



